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1. C{kmtb¬P\w tPm¿±m≥ \Zn IS∂t∏mƒ hmKvZm\t]SIw hln®Xv Bcv?
a. Altdm≥ b. tPmjzm c.  ]ptcmlnX∑m¿

2.  F¥ns‚ Hm¿Ωbv°mbmWv Kn¬Kmen¬ kvamcIw ÿm]n®Xv?
a. Im\m≥ tZiØv  FØnbXns‚ b. sPdot°m IogS°nbXns‚
c. tPm¿±m≥ \Zn IS∂Xns‚

3.  tPm¿±m\n¬ \n∂v tiJcn® F{X I√pIƒ D]tbmKn®mWv Kn¬Kmen¬ kvamcIw ÿm]n®Xv?
a. 12 b. 15 c.  7

4.   Im\m≥tZiØp FØnt®¿∂Xn\ptijw C{kmtb¬°m¿ BZyw IogS°nb ]´Ww  GXv?
a. sPdpktew b.samhm_v c.  Pdot°m

5.  tX\pw ]mepw HgpIp∂ tZiw F∂XpsIm≠v A¿∞am°p∂Xv F¥v?
a. ssZhm\p{Klßƒ  \nd™ \mSv b. kº¬kar≤amb \mSv
c. AXnat\mlcamb  \mSv

6.  ssZhw A{_mlØn\v \¬Inb hmKvZm\ßfn¬ Ahkm\tØXv GXv?
a. A{_lmw \nch[n P\XIfpsS ]nXmhmbncn°pw
b. A{_mlØn\pw k¥XnIƒ°pw Im\m≥ tZiw AhImiambn \¬Ipw
c. A{_mlØn\p k¥XnIƒ°pw ssZhhpambn {]tXyI _‘ap≠mbncn°pw

7.  Hmtcm a\pjys‚bpw A¥nae£yw F¥v?
a. kpJambn Pohn°pI b. \∂mbn ]Tn°pI c. kz¿§Øn¬ FØnt®cpI

8.  ssZhoI km∂n≤yØns‚ IqSmcamWv ....................
a. kz¿§w b. Im\m≥ tZiw c. `qan

9.  tIm´Ifm¬ Np‰s∏´ ]´Ww GXv?
a. C{kmtb¬ b. Pdot°m c. CuPn]vXv

10.  ""I¿ØmhmWv \ns‚ apºn¬ t]mIp∂Xv. AhnSp∂v \nt∂mSpIqsS D≠mbncn°pw'' hN-\-`mKw
GXv?
a. \nb 28:7 b. \nb 31:8 c. \nb 30:9


